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Answer the following questions.
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The equation x™-ngx +(n-1)r=0 will have a pair of equal roots if (i) g~ =r™ (ii)g™+(—1)"

1 =0.(jii) g =r""L.(iv) g1 =r"2,

What is the relation between q and r in order that x3+ qx+ r =0 may be put in the form

x*=(x? + ax + b)? ? (i) 8q%+r3 =0 (i) 8¢q3+r2=0 (iii) 872 +q3=0 (iv) q3=8r2.

If a be a multiple root of order 3 of the equation x*+bx?+cx+ d =0,(d# 0) then a is equal to (i) -
8D ()22 iy - (iv) &2,

3c 3c 3d 3c

If one of the roots of the equation x
a3+8c-8ab=0 (ii) a3+8c-4ab=0 (iii) a®-8c-4ab=0 (iv) none.

If an integer m is a multiple root of order p of the equation x°-5x3+5x2-1=0,then (i) p=>5 (ii)p=2
(iii)p=3 (iv) p=4.

The unit digit in 7°7 is (i) 2.(ii) 3 (iii) 1 (iv) 4.

The last two digit in 331°9 is (i) 10 (ii) 11 (iii)01 (iv)61.

Two integers u and v satisfying 54u+24v =30 is (i)u=5,v=-10 (ii) u=-10, v=5 (iii)u=-5,v=10 (iv) u=7,
v=10.

The remainder when 11+ 21 43!+, +50! Is divided by 15 s (i) 3 (ii) 4 (iii)5 (iv) 6.
The least positive residue in 241 (mod23) s (i) 2 (ii) 3 (iii) 4 (iv) 5.

If a,b are positive and a+b=4 then (a + %)2+(b + %)2 > (i)g (ii) 22—5 (iii)A:}—9 (iv) g.

3+ax?+bx+c=0 equals the sum of the other two ,then (i)

If x> 0and ais known positive numbers ,then the least value of ax +% is (i)a (ii) %(iii) V2
a(iv)a?
Let X1 X2, e ,Xn be n positive numbers such that x;.x5............ xp=1,then

X1+Xy F e tXpis (i)>n+% (ii)<n+% (iii) >1 +% (iv) none.
If a+b+c=0(a,b,c>0) then ab+bc+ca (i) <0 (ii) >0(iii) = 1 (iv) none.
The maximum value of (4 — x)3(2 + x)%is (i) 2° (ii) 21° (iii) 21" (iii) 212 .



